Downloaded from Stanmorephysics.com

education

Department of

o\ g Education
FREE STATE PROVINCE

PREPARATORY EXAMINATION

GRADE 12

TIME: 22 HOURS

This question paper consists of 20 pages.

Copyright reserved Please turn over




\Doweteaeled from Stanmorephysics.com FS/September 2024

Grade 12 Prep. Exam.

INSTRUCTIONS AND INFORMATION

Read the following instructions carefully before answering the questions.
U Answer ALL the questions.

& Write ALL the answers in the ANSWER BOOK.

5 Start the answer to EACH question at the top of a NEW page.

4. Number the answers correctly according to the numbering system used in
this question paper.

5. Present your answers according to the instructions for each question.

6. ALL drawings should be done in pencil and labelled in blue or black ink.
4 Draw diagrams, tables or flow charts only when asked to do so.

8. The diagrams in this question paper are NOT necessarily drawn to scale.

9. Do NOT use graph paper.

10. You must use a non-programmable calculator, protractor and compass,
where necessary.

11. Write neatly and legibly.
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SECTION A

QUESTION 1

1.1 Various options are provided as possible answers to the following
questions. Choose the answer and write only the letter (A—-D) next to
the question numbers (1.1.1 to 1.1.9) in the ANSWER BOOK, for
example, 1.1.10 D.

T

1.1.2

1:1.3

Copyright reserved

When a cell divides by meiosis, it will resultin ...

A four genetically different haploid gametes.
B two genetically different haploid gametes.
C four genetically different haploid somatic cells.
D two genetically different haploid somatic cells.

Dog breeders selected desirable traits to develop particular
characteristics in domestic dogs such as the flat face of a
bulldog.

Bulldogs suffer from breathing problems because of their set-
back noses and shortened air passages.

These issues in bulldogs are due to ...

A mutations.

B genetic disorders.
C artificial selection.
D natural selection.

Evidence supporting the evolution theory is obtained by
studying the structure of vertebrate forelimbs.

This type of evidence for evolution is best described as ...
A genetic evidence.
B DNA evidence.

C biogeography.
D descent with modification.
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1.1.4  Which hominin species had the smallest brain capacity?

A Homo habilis

B Australopithecus sediba
C Ardipithecus ramidus
D Homo sapiens

1.1.5 If a DNA molecule consisting of 250 nitrogen bases has 25
adenine bases, what is the ratio of adenine to guanine in the
same molecule?

1.1.6  The following diagram shows six chromosomes (labelled
A to F) from a diploid cell.

Which of the following combinations represents the three
pairs of homologous chromosomes?

Homologous | Homologous | Homologous
pair 1 pair 2 pair 3
A CandD AandF B and E
B Aand C D and E B and F
C Aand E CandD B and F
D AandD B and C E and F

Copyright reserved Please turn over



Doawategeted from Stanmorephysics.com

Grade 12 Prep. Exam.

QUESTIONS 1.1.7 AND 1.1.8 REFER TO THE PEDIGREE DIAGRAM

BELOW.

A scientist gathered information about the affected and unaffected individuals
for a certain genetic disorder. A dominant allele causes the genetic disorder.
The findings of the scientist are represented in the pedigree diagram below.

The letter R is used to represent the dominant allele and r to represent the

recessive allele.

A B

% O

O

—

Key

VA Affected male

Affected female

Unaffected male Unaffected female

O

1.1.7

1:4.8
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The genotype of individual C:

A Rr
B RR
Crr

D XX

Which statement is correct for the phenotype of individual X?

A 100 % chance of being unaffected
B 50% chance of being unaffected
C 25 % chance of being affected

D 75% chance of being affected

Please turn aver

FS/September 2024




\Doweteaeled from Stanmorephysics.com FS/September 2024

Grade 12 Prep. Exam.

1-4.9

If the mother is heterozygous for blood type B, and the father
is blood type O, the first generation's only possible blood
type(s) (F1) will be ...

AB and O.
B and O.
only B.
only O.

o0 w>

(9x2) (18)

1.2 Give the correct biological term for each of the following descriptions.
Write only the term next to the question numbers (1.2.1 to 1.2.8) in the

ANSWER BOOK.

1.2.1 More than two alleles that influence one characteristic

1.2.2 The complete set of genes of an organism

1.2.3 The division of cytoplasm during meiosis

1.2.4 The gap between the teeth of apes

1.2.5 The permanent disappearance of a species from Earth

1.2.6 Chromosomes in the human karyotype that are not
associated with sex determination

1.2.7 The type of dominance is where both alleles of a gene are
equally dominant and both alleles express themselves in the
phenotype in the heterozygous condition

1.2.8 The family that Homo Sapiens belong to

Copyright reserved

(8)
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1.3 Indicate whether each of the statements in COLUMN 1 applies to A
ONLY, B ONLY, BOTH A AND B or NONE of the items in COLUMN
Il. Write A only, B only, both A and B or none next to the question
numbers (1.3.1 to 1.3.3) in the ANSWER BOOK.

COLUMN | COLUMN II
1.3.1 | Variation within a population in A: Discontinuous
which there is a range of variation
intermediate phenotypes B: Continuous
variation
1.3.2 | Down syndrome Al 2n+1
B: 2n+n
1.3.3 | A homozygous tall plant is crossed | A: Mendel's law of

with a homozygous short plant; the dominance
offspring will be 100% tall plants Mendel's law of
segregation

L2

(3x2) (6)
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1.4 The diagram below represents all the chromosomes from a human
somatic cell.

0N 6 i

LK DH NK B8 MR g
AL K6 KK RK R

RR XX Aa an Hﬂ

23

1.4.1 Identify the type of diagram shown above. (1)
1.4.2 State the gender of the person represented in this diagram. (1)
1.4.3 Give ONE reason for your answer in QUESTION 1.4.2. (2)

144 Name the phase of meiosis during which the above
chromosomes were possibly photographed. (1)

1.4.5 If a person has a genetic condition that results in only 43
autosomes, how many chromosomes will there be in their
somatic cells? (2)

(@)
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A maize farmer crossed two maize plants and investigated two traits in this
crossing.

Yield ability: Few cobs (F) Many cobs (f)
Draught resistance: High (H) Low (h)

One parent plant is homozygous dominant for both traits, and the other is
homozygous recessive for both traits.

1.5.1 Give the genotypes of both parents in the P1-generation. (2)

1.5.2 The parents in the P2-generation are crossed, and the offspring
genotypes are shown in the Punnett diagram below.

FH Fh fH fh

FH FFHH FFHh FfHH FfHh

Fh FFHh FFhh FfHh Ffhh

fH FfHH FfHh ffHH FfHh

fh FfHh Ffhh ffHh ffhh
Give:
(@) The dominant phenotype for drought resistance (1)
(b)  The recessive allele for yield ability (1)
(c)  The phenotype of Ffhh (2)

(d)  The ratio of the offspring phenotypes in maize plants
with few heads and a high drought resistance to maize
plants with many heads and a low drought resistance (2)

(e) The percentage of offspring that is homozygous for both
characteristics. Show your calculations (3)
(11)

TOTAL SECTION A: 50
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SECTION B
QUESTION 2

2.1 Insulin is a peptide hormone produced by the beta cells of the pancreatic
islets encoded in humans by the INS gene.

In most animals, including humans, a single gene for insulin is found. The

human gene for insulin is located on the short arm of chromosome 11 at
position 15.5.

The diagrams below represent a section of the human INS GENE that codes

for insulin. Strand A is a normal insulin strand, and strand B is a mutated
strand.

represented in

Key Amino acid

Phenylalanine (Phen)

Tyrosine (Tyr)

O
AN
O Threonine (Thr)
]
A
0

Proline (Pro)

Lysine (Lys)

Methionine (Met)
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2.1.1 According to the information given, what is the locus of the

human insulin gene? (2)
2.1.2 What type of mutation is illustrated in this diagram? (1)
2.1.3 Identify the amino acid that caused the mutation in strand B. (2)
The table below shows the amino acid and their corresponding codes.
Amino acid Codon
Phenylalanine (Phen) UuC
Tyrosine (Tyr) UAU
Threonine (Thr) ACG
Proline (Pro) CCG
Lysine (Lys) AAA
Methionine (Met) AUG
2.1.4 Give the codon for the last amino acid in strand B. (1)
2.1.5 Identify the DNA base ftriplet for the third amino acid in the
NORMAL insulin strand. (2)

Copyright reserved

(8)
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2.2 Forensic scientists collected multiple hair samples at a crime scene in a
family home. Four family members live in the house. The diagram below
shows the respective DNA profiles from the different hair samples found in
the house.

Hair

Sample 1 I I L _l
_l

Hair
Sample 2

Hair

e R u
Hair
Sample 4 I I I I I
Hair
Sample 5 . I I I

2.2.1 Identify which hair sample could be that of the suspect. (1)
2.2.2 Explain your answer to QUESTION 2.2.1. (3)
2.2.3 The possibility exists that the hair sample identified in
QUESTION 2.2.1 is NOT that of the suspect.
Explain this statement. (2)

(6)
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2.3  The diagram below represents DNA replication.

DNA molecule

Strand 1 Strand 2

2.3.1 Give TWO visible reasons why this diagram represents DNA

replication. (2)
2.3.2 l|dentify:

(a) MonomerY (1)
(b)  The sugar in structure X (1)
(c) BondZ (1)

2.3.3 Give TWO reasons why DNA replication is of biological
significance. (2)
(7
2.4 Tabulate TWO structural differences between mRNA and tRNA. (5)
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25 The diagram below represents one cell in a phase of meiosis.

2.5.1 Identify the phase of meiosis illustrated in the diagram. (1)
2.5.2 l|dentify the process that took place at A. (1)
2.5.3 If gamete B, resulis from the process identified in
QUESTION 2.5.2, is involved in fertilisation with a normal
gamete, explain how the new zygote will be affected. (2)
2.54 Draw a labelled diagram of gamete B as it would appear in

telophase II. (5)
(9)
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26 Two alleles determine the texture of human hair. An allele that results in curly
hair (R) and an allele that results in straight hair (T). In a heterozygous
condition, the hair texture will be wavy in the phenotype.

Straight hair Wavy hair Curly hair
(intermediate form)
2.6.1 What type of dominance occurs in human hair texture? (1)

2.6.2 How many genes control the texture of human hair?

2.6.3 Mr Anderson has curly hair, and Mrs Anderson has wavy

Copyright reserved

hair.

Use a genetic cross to show the percentage of possible
phenotypes of Mr and Mrs Andersons' children.

(6)
(8)
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20 The table contains diagrams representing the body parts of different primate
species.

2.7.1 Which diagram represents the pelvis of a bipedal organism? (1)
2.7.2 Give ONE reason for your answer in QUESTION 2.7.1. (1)

2.7.3 What type of grip is possible due to the structure of body part
s 1)

2.7.4 Give all the LETTERS of the body parts that belong to a
chimpanzee. (2)

2.7.5 Describe ONE difference between the teeth of organisms B
and D. (2)

(7)
[50]
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QUESTION 3

3.4 An investigation was done on the weight gain of two calves over six weeks.
The cows abandoned both calves at birth; both were hand-raised with bottle
feeds for six weeks.

The investigation was done to determine the effect of the type of milk used
for feeding on the weight of the calves. One calf was fed on milk from a
genetically modified cow — and the other on milk from a normal cow.

The calves are from the same breed of cattle and had the same weight at the
beginning of the investigation.

The graph below represents the weight gain of each calf during the
investigation.

A

Weight, in kg, of calves fed with different types of milk over a G-nﬂ

®  Calf fed on milk frop
O Calf fed on mifkfro

3.1.1 Define the term genetic manipulation. (2)
3.1.2 Give TWO reasons why this is not a reliable investigation. (2)

3.1.3 Which calf had the highest weight gain at the end of the six
weeks? (1)

3.1.4 By studying the results of this investigation, describe the

advantages to farmers in the meat industry when calves are fed
on milk produced by genetically modified cows. (3)
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3.1.5 What type of graph was used to illustrate the data in this

investigation? (1)
3.1.6 Draw a table to represent the information in the graph. (6)
(15)

3.2 Read the extract below.

SPECIATION IN ACTION

In the summer of 1995, at least 15 iguanas from the island of Guadeloupe
survived Hurricane Marilyn on a raft of uprooted trees. They rode the high
seas for a month before colonising the Caribbean island of Anguilla. These
few individuals were the first of their species, Iguana iguana, to inhabit the
island of Anguilla.

Scientists were eager to discover what would happen next: would the
colonising iguanas die out? Would they survive and change only slightly, or
would they become reproductively isolated from other Iguana iguanas and
become a new species?

S —1 |

<
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| | NORTHAMERIC =
\i.\. Ilt'-, ) -~ /"'“"\_.\:i: e \'- II"\\
< \\ ko \'--.\ v , Ak S Island of Guadeloupe
3 I ML Ko ‘-\ -
\ \ Y ‘\_\_ | \‘_; pe ‘\\\é/
) ~) b T
& . :
N\ | N
\, { o &~ D N \__) '-—~:\ P i L
$ = ity ™S =" =L ¥
¢ \ . 4 RTI - . ® Island of
N ~—"_ A -x/ Anguilla
\\-\5\ = __\Iw :.c;,_ﬂﬁ oy 53
\ ‘{k“"-, ’-‘ﬂr)—/:: o ::'!'
X P o U <,
!"'\-'\‘ :I' /N .1' =
AP SOUTH AMERICA h
e W g
3.2.1 What is the geographical barrier in this case study? (1)

3.2.2 |If the iguanas survive, how will scientists determine whether
they remain the same species or become a new species? (2)

3.2.3 If speciation did occur, how would the reproductive isolated
new species of iguana differ from the original species? (2)

3.2.4 Name TWO reproductive isolated mechanisms by which the

iguanas on Anguilla Island could have become reproductively
isolated. (2)
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3.2.5 Natural selection is an important part of speciation. List FOUR
observations that Charles Darwin made around the Galapagos
islands that led to his theory of natural selection. (4)

(1)

3.3  The diagram below represents the possible evolution of humans, including the
timeline for the advancement of bipedalism, applying fire and utilising tools.

Bipedalism
| 1

Use of stone tools

. -

. sapiens
I

5 4 3 2 1 Present
Key: Millions of years ago
Prehistoric man Human

3.3.1 Identify TWO bipedal species that did not use stone tools or

have the ability to make fire. (2)
3.3.2 State THREE advantages of bipedalism. (3)
3.3.3 When did the ability to make fire develop? (1)

3.3.4 Name TWO A. africanus fossils that have been found in the
Cradle of Humankind. (2)

3.3.5 Explain the correlation between the size of the cranium and the
ability of the Homo species to make and use stone tools. (3)
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34 Except for fossils, mitochondrial DNA can also be used as evidence to

support the 'Out of Africa' hypothesis. Explain this statement. (4)
(15)

3.5 The graph below shows the rate at which evolution occurs in a mosquito
species.

Evolution
— >

v

Time

3.5.1 Identify the type of evolution theory that is represented by this

graph. (1)
3.5.2 Name the TWO scientists who proposed the theory in
QUESTION 3.5.1in 1972. (2)
3.5.3 What type of environmental conditions would result in period
A? (2)
3.5.4 Explain what happens during period B. (2)
3.5.5 Explain why mosquitoes are good examples to study this
evolution theory. (2)
(9)
[50]

TOTAL SECTION B: 100
GRAND TOTAL 150

Copyright reserved



Downloaded from Stanmorephysics.com

education

Department of
Education

FREE STATE PROVINCE

PREPARATORY EXAMINATION

GRADE 12

LIFE SCIENCES P2

SEPTEMBER 2024

MARKS: 150

MARKING GUIDELINES

These marking guidelines consist of 13 pages.

Copyright reserved Please turn over




Bowsieaeted from Stanmorephysics.com FS/September 2024

Grade 12 Prep. Exam. Marking Guidelines

PRINCIPLES RELATED TO MARKING LIFE SCIENCES

1.

10.

11.

12.

13.

If more information than marks allocated is given
Stop marking when maximum marks are reached and put a wavy line and 'max’
in the right-hand margin.

If, for example, three reasons are required and five are given
Mark the first three irrespective of whether all or some are correct/incorrect.

If the whole process is given when only a part of it is required
Read all and credit the relevant part.

If comparisons are asked for, but descriptions are given
Accept if the differences/similarities are clear.

If tabulation is required, but paragraphs are given
Candidates will lose marks for not tabulating.

If diagrams are given with annotations when descriptions are required
Candidates will lose marks.

If flow charts are given instead of descriptions
Candidates will lose marks.

If the sequence is muddled and links do not make sense

Where sequence and links are correct, credit. Where sequence and links are
incorrect, do not credit. If the sequence and links become correct again, resume
credit.

Non-recognised abbreviations
Accept if first defined in the answer. If not defined, do not credit the
unrecognised abbreviation, but credit the rest of the answer if correct.

Wrong numbering
If the answer fits into the correct sequence of questions, but the wrong number
is given, it is acceptable.

If the language used changes the intended meaning
Do not accept.

Spelling errors
If recognisable, accept the answer, provided it does not mean something else
in Life Sciences or if it is out of context.

If common names are given in terminology
Accept, provided it was accepted at the national memo discussion meeting.
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14. If only the letter is asked for, but only the name is given (and vice versa)
Do not credit.

15. If units are not given in measurements
Candidates will lose marks. The memorandum will allocate marks for units
separately.

16. Be sensitive to the sense of an answer, which may be stated differently.

17. Caption
All illustrations (diagrams, graphs, tables, etc.) must have a caption.

18. Code-switching of official languages (terms and concepts)
A single word or two that appear(s) in any official language other than the
learner's assessment language used to the greatest extent in his/her answers
should be credited if it is correct. A marker that is proficient in the relevant official
language should be consulted. This applies to all official languages.

19. Changes to the marking guidelines

No changes must be made to the memorandum. The provincial internal
moderator must be consulted.
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SECTION A
QUESTION 1
14 1.1.1 A VY
312 CvYv
1.1.3 Dvv
114 CvVvV
1.1.5 DvVv
116 BvV
117 AVYV
1.1.8 Dvv
119 BvYV
(9x2) (18)
1.2 1.2 Multiple v* alleles
1.22  Genome v
123
8x1) (8
(3x2) (6)
14 141  Karyotype v (1)
142 Male v (1)
14.3 - Chromosome pair 23 v'/position 23
- Hasan XandY chromosomev'/one large and one small
chromosome /chromosomes are not the same size (2)
144 Prophase |v//Prophase 1 (1)
145  45vv chromosomes (2)
(7)
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1.5 1.5.1

15.2

Copyright reserved
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FFHH v'x ffhh v/FFHH and ffhh (2)
(a) Highv (1)
(b)y fv (1)
(c) Few cobs/heads and low draught resistance v'v/ (2)
(d) 10:1vv /9:1 (2)
(e) 4/16 v x100 v =25 v% (3)

(11)

TOTAL SECTION A: 50
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SECTION B

QUESTION 2

2.1 2.1.1 Position 15.5 v on chromosome 11 v/

2.1.2 Gene v mutation

213 Methionine v'v/MET/ ()

(2)
(1)
(2)

214 AAAY (1)
215 TGCvV (2)
(8)
22 221 (Hair)Sample 4 v (1)
222 - NONE of the DNA profile bars of sample 4 v' match with
- any of the other sample DNA profile bars. v
- Sample 4 is therefore not related v to any of the other
- people.
- Does not live together v' in the house with the family.
(Any 3)  (3)
223 - The hair could belong to anybody who visited the
house v'/work in the house/friends visited the house.
- The presence of DNA does not prove that the person
committed the crime. v (2)
(6)
23 231 - Both DNA strands act as templates. v
- Thymine/(T) is attached to adenine/(A). v/
- Two identical DNA-molecules form v/ (Any 2) (2)
2.3.2 (a) Nucleotide v (1)
(b) Deoxyribose v sugar (teach Deoxyribose sugar ) (1)
(c) (Weak) Hydrogen v" bond (1)
233 - During mitosis one mother cell will divide into two identical
daughter cells. v’
- For each daughter cell to have identical genetic
information as the mother cell, DNA has to make a copy
before cell division. v’
E Each daughter cell then contains the exact DNA
composition as the mother cell. v (Any 2) (2)
(Mark first TWO only) (7)

Copyright reserved
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2.4 mRNA tRNA
Unlimited/many Only 3 nucleotides/nitrogen
nucleotides/nitrogen bases bases
Long/linear structure/single Folded structure/Hairpin shape/
strand T-shape
Three nitrogen bases form a Three nitrogen bases form an
codon/ Many codons anti-codon/ One Anticodon
(Mark first TWO only) Table 1 +(2x2) (9)
2.5 25.1 Anaphasell v (1)
2.5.2 Non-disjunction v (1)
2.5.3 - The gamete will have one extra chromosome/

7 chromosomes v/
- Therefore, the zygote will have an extra chromosome v/
2n +1/13 (2)

254 Structure B/gamete (B) during telophase |l

Cell membrane

Nuclear membrane

Nucleoplasm
Nucleolus

Centromere

—— Chromatid/Daughter
chromosome

D %\/

Criteria Elaboration Mark
Heading (H) | Gamete B/structure B in telophase Il | (1)
Drawing (D) | SEVEN single chromatids/daughter

chromosomes (1)

Labels (L) Any ONE correct label (1)
Any TWO correct labels (2) (5)
Any THREE correct labels (3) (9)
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2.6 2.6.1 Incomplete v dominance (1)
262 1V (1)

2.6.3 P1  Phenotype Curlyhair x Wavy hair v/
Genotype RR X RT v
Meiosis
Gametes

Fertilisation

F1 Genotype RR RT RR RTVY

Phenotype Curly hair, wavy hair, curly hair,
wavy hair v

50% chance for curly hair
50% chance for wavy hair | v*

P1and F1v
Meiosis and fertilisation v/
*1 compulsory mark + any 5

OR
P1 Phenotype Curly hair  x Wavy hair v/
Genotype RR X RT v
Meiosis
Gametes R R
R RR RR
T RT RT

1 mark for correct gametes v/
1 mark for correct genotypes v/

Phenotype Curly hair, wavy hair, curly hair, wavy hair v/

50% chance for curly hair }
50% chance for wavy hair ] v*

P1and F1 v
Meiosis and fertilisation v

*1 compulsory mark + any 5 Eg;
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27Tr%%y CV (1)
2.7.2 - The pelvis is short and wide v (1)
2.7.3 - Precision v//power grip (1)
274 ADEvVY (2)
275 - Organism B has small canines v" and

organism D has large canines v/
- Organism B has no diastema v and

organism D has a diastema v (Any) (2)
(Mark first ONE only) (7)
[50]
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QUESTION 3
3.MN_KT - The (direct) manipulation/change
- of an organism's genetic material v'v' (2)
312 - The sample size is too small v'/only two calves were
studied in the investigation/only one calf in each group
- The investigation was not repeated v'/done once (2)
313 - The calf that was fed on milk from a genetically modified
cow. v (1)
3.14 - Cattle will gain more weight v'/be heavier/have more
meat
- Faster v'/in a shorter period of time
- resulting in a larger profit v/more money when meat is
sold (3)
3.1.5 Bargraph v (1)
3.1.6  Weight (kg) of calves fed different types of milk over 6 weeks.
Time Weight of calf fed | Weight of calf fed
(weeks) on milk from on milk from a
genetically normal cow (kg)
modified cow (kg)
Birth 35 35
2 50 45
4 65 55
6 80 65
Rubric for marking table:
Criteria Elaboration Marks
Table draw (T) | Rows and columns drawn 1
Heading (H) Both variables included 1
Labels of All three columns are correctly 1
columns (L) labelled
Units (U) Unit of 'weeks' and 'kg' included 1
Correct data 1 to 6 values correctly captured 1
captured (D) 7 to 8 values correctly captured 2
(6)
(15)
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3.2 3.21 Ocean v/sealhigh seas (1)

A2z -

3.23 -

3.24 -

3285 -

3.3 3.3.1

Copyright reserved

Allow them to interbreed with the original population, if
they produce fertile offspring v they are still the same
species v
OR
Allow them to interbreed with the original population, if
they produce infertile offspring v they are not of the same
species/form a new species. v’
OR
DNA profiling can be done v by comparing the DNA
profiles of the original population with the iguanas (2)

They will differ genotypically v'/genetically/genetic make-
up will be different/various forms of alleles
and phenotypically/observable traits will be different v (2)

Breeding at different times of the year v’

Specie-specific courtship behaviour v

Producing infertile offspring v/

Prevention of fertilisation v

(Mark first 2 only) (Any2) (2)

A population produce a large number of offspring which
shows variation v/

Some individuals have favourable characteristics and
some do not v’

When there is a change in the environmental conditions v/
Organisms with favourable characteristics will survive v/
Organisms with unfavourable characteristics will die v/
Organisms that survive will reproduce v/

And pass the allele for the favourable characteristic on to
the next generation. v’

(Mark first 4 only) (Any 4) ( 1(;1;

A. anamensis v
A. afarensis v
(Mark first TWO only) (2)
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332 - Better awareness of the envir%e : god v'/danger

3.3.3 1 mya/million years!

334 -

335 -

3.4 -

Hands are e0ideols v /cai

Mrs_PIs: v
Little foot v/
(Mark first TWO only)

As the size of the cranium increased v

The size of the brain increased v/

Intelligence also increased v'/better coordination of
movement/improved processing of information

mtDNA is transferred from the mother v

to the child v

Mutation occurs in the mtDNA v

By studying these mutations, the female line of ancestors
can be traced/can be traced back to 'mother Eve' v/

3.5 3.5.1 Punctuated equilibrium v/

3.5.2 (Jay) Gould v
(Niles) Eldredge v

3:.5:3

I

3.54

Copyright reserved

Favourable conditions v'/No change in the environment
No competition v/
No predationv’ (Any 2)

Short period v

a sudden change occursv’/ natural selection
and speciation take place v'/new species form (Any 2)

(3)

(1)

(2)

(3)

(4)
(15)

(1)

(2)

(2)

(2)
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3.5.5 - Because they reproduce quickly v
- Evolution happens relatively fast/results will be visible in a
short period of time v/
- They have a short life span v
- Can easily be kept in a laboratory v/
- Only need a small amount of food v' / nectar to feed them
- The effect of a changing environment can be seen
quickly v’ (Any 2) (2)
(9)
[50]

TOTAL SECTIONB: 100
GRAND TOTAL: 150
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